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SECTION A (10 x 1 = 10 marks)

         1.         Write the condition to be satisfied by q, so that a rational number 
[image: image1.wmf]q

p

has a non-terminating 
              repeating decimal expansion   . 
  2.         Find the sum and the product of the quadratic  polynomial 
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3.          If 
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 are the zeroes of the cubic polynomial 
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, find ;
a. 
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and 

b.   
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4.         If  sinA= 0.6 , find  
[image: image7.wmf]A

A

A

A

sin

cos

sin

cos

-

+


5.        Find the difference between  nth  term and the kth  term of an A.P whose first term is 
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           and common difference is 
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.

6.        How many spherical bullets can be made out of a solid cube of lead whose edge measures 44cm,
           each bullet being 4cm in diameter.

7.        In 
[image: image10.wmf]∆ABC, D and E are the mid points of AB and AC respectively. Find the ratio of the areas of 
           ∆ADE and ∆ABC.
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                                                    D                   E

                                                               A

8. A tangent PQ at a point P of a circle of radius 5cm meets a line through the centre O at a point 
          so that OQ = 12cm. Find the length PQ.

                                                          P


                                                   O                                         Q

        9.         It is given that in a group of 3 students, the probability of two students not having the same
            birthday is 0.992. What is the probability that the 2 students have the same birthday?

      10.         The wickets taken by a bowler in 10 cricket matches are as follows: 2,6,4,5,0,2,1,3,2,3. Find the 
           mode of the data.

SECTION – B (5 x 2 = 10 marks)

11.       State the nature of the solutions of the following pair of linear equations:

  3x + 5y – 8 = 0

  8x – 11y + 3 = 0

12.       Without using trigonometric tables, find the value of 
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13.       Read the values of  y  for which the distance between the points P(2, -3) and G(10,y) is 10 units.

14.        In the fig. if  LM ‌‌‌ II CB and LN II CD, prove that 
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15.      A bag contains 4 red, 5 black and 6 white balls. A ball is drawn from the bag at random. Find the 
            probability that the ball drawn is ;
b. White


c. Not black
c. Red


d. Red or white.

SECTION – C (10 x 3= 30 marks)

16.      Prove that 
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 is an irrational number.

17.      If two zeroes of the polynomial 
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 are 
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and 
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. Find the remaining 
           zeroes of P(x); if any.

18. Draw the graph of the system of equations  x + y = 5 and  2x – y + 2 = 0. Shade the 
        region   bounded   by these lines and x axis. Find the area of the shaded region.

19.      Which term of the arithmetic progression 3,10,17,… will be 84 more than its 13th term?

20.      Prove that 
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Or


      Prove that 
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21.      Find the area of the quadrilateral ABCD formed by the points   A(-1,-2)  B(1,0)   C(-1,2)  and 
           D(-3,0).
     22.      The vertices of a triangle are A(3,4), B(7,2) and C(-2,-5). Find the length of the median through 
           the vertex B.

     23.        Construct  ∆ABC in which AB = 4cm, 
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                  similar to ∆ABC such that 
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     24.         In the adjoining figure, a circle touches all the four sides of a quadrilateral ABCD. 


                  Prove that AB + DC = AD + BC.
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25.
      Find 
(i)  the perimeter and 

(ii)  area of the shaded region. If PQ=QR=RS=ST

             and PT= 28cm.




                              P                    Q              R               S                          T




Or

Find the area of the    unshaded region, the perimeter of the equilateral triangle is 42cm.



SECTION – D (5 x 6 = 30 marks)

26.   Some students arranged a picnic. The budjet for food was Rs.600. Because five students of the group failed to go, the cost of each student got increased by Rs.4. How many students went for the picnic?

27.  
A vertical tower stands on a horizontal plane and is surmounted by a vertical flagstaff of height h metres. At a point on the plane, the angle of elevation of the bottom of the flagstaff is α and that of the top of the flagstaff is β. Prove that the height of the tower is 
[image: image25.wmf].
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Or
A The angles of elevation of the top of a tower from two points P and Q at distances of ‘a’ and ‘b’ respectively from the base and in the same straight line with it  are complementary. Prove that the  height of the tower is 
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.
  28.           Find the missing frequencies in the following distribution. It is given that mean of 

                  the Frequency distribution is 50. Also find mode.

	Class
	0 – 20
	20 – 40
	40 – 60
	60 – 80
	80 – 100
	Total

	Frequency
	17
	F1
	32
	F2
	19
	120


29. Prove that the length of tangents drawn from an external point to a circle are equal. Using this theorem prove that, the opposite sides of a quadrilateral circumscribing a circle subtend supplementary angles at the center of the circle.







Or

Prove that the ratio of the similar triangle is equal to the square of ratio of their respective sides. Using the above, prove that area of equilateral triangle described on the side of a square is half of the equilateral triangle described on its diagonal.

30. A metallic bucket is in the shape of a frustum of a cone mounted on a hollow cylindrical base from the adjoining figure. If the diameter of two circular ends of the bucket are 45cm. and 25cm., the total vertical height is 30cm. and that of the cylindrical portion is 6cm, find the area of the metallic sheet used to make the bucket. Also find the volume of water it can hold.
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	QUESTION NUMBER
	ANSWER

	1
	q ≠ 2m 5n      

	2
	-7/2, 3/2

	3
	-3 ,-3

	4
	7

	5
	(n-k)d

	6
	2541

	7
	1:4

	8
	√119

	9
	.008

	10
	2

	11
	Unique solution

	12
	1

	13
	3 or -9

	14
	

	15
	2/5,4/5,2/5,2/5

	16
	

	17
	1/2  , 1

	18
	

	19
	

	20
	

	21
	25

	22
	√89

	23
	

	24
	√178/2

	25
	 11.55cm2 ,66cm ,  8.768cm2

	26
	25                             

	27
	

	28
	28 ,24

	29
	

	30
	3822.5sq.cm ,771.9 cu.cm.
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